

MANCHESTER-HOOKSETT 43071 X-A005(034)

PROJECT: MANCHESTER-HOOKSETT

STATE PROJECT NUMBER: 43071

FED. PROJECT NUMBER: X-A005(034)

DATE BIDS OPEN:

April 28, 2022, 2:00

SCOPE OF WORK:

Resurfacing SB I-93 from I-293 southerly to Exit 6. Includes interchanges 6, 7, 8, 9,

10, and I-293

COMPLETION DATE: September 29, 2023

LOCATION:

Hillsborough, Merrimack, District 5

Awarded To: PIKE INDUSTRIES, INC.

Amount:

Award Date:

3 EASTGATE PARK ROAD

BELMONT, NH 03220

Certified by: PETER.E.STAMNAS \$6,393,237.13

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD, BELMONT NH 03220	\$6,393,237.13	А
BROX INDUSTRIES, INC. 1471 METHUEN STREET, DRACUT MA 01826	\$6,438,060.48	В
GORMAN GROUP LLC, THE 200 CHURCH STREET, ALBANY NY 12202	\$6,799,802.79	С



MANCHESTER-HOOKSETT 43071 X-A005(034)

				ı	PS&E	3 EASTGA	JSTRIES, INC. TE PARK ROAD IT, NH 03220	1471 METH	JSTRIES, INC. IUEN STREET T, MA 01826
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		1	1						
202.7	REMOVAL OF GUARDRAIL	LF	15,419.00	\$5.00	\$77,095.00	\$2.75	\$42,402.25	\$4.25	\$65,530.75
202.83631	REMOVE AND SALVAGE HUB CABINET	U	1.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$2,600.00	\$2,600.00
203.1	COMMON EXCAVATION	CY	100.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$53.00	\$5,300.00
203.5561	EAGRT PLATFORM PREFERRED	U	12.00	\$1,750.00	\$21,000.00	\$1,250.00	\$15,000.00	\$2,200.00	\$26,400.00
203.5596	GUARDRAIL E-2 PLATFORM	LF	379.00	\$100.00	\$37,900.00	\$35.00	\$13,265.00	\$50.00	\$18,950.00
206.1	COMMON STRUCTURE EXCAVATION	CY	15.40	\$600.00	\$9,240.00	\$1,700.00	\$26,180.00	\$530.00	\$8,162.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$350.00	\$3,500.00	\$45.00	\$450.00	\$300.00	\$3,000.00
304.301	CRUSHED GRAVEL	CY	10.00	\$500.00	\$5,000.00	\$200.00	\$2,000.00	\$100.00	\$1,000.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,000.00	\$25.00	\$50,000.00	\$36.00	\$72,000.00	\$38.00	\$76,000.00
403.11053	HBP-3/8" SURFACE MIX, MACHINE METHOD	TON	377.90	\$95.00	\$35,900.50	\$185.00	\$69,911.50	\$150.00	\$56,685.00
403.11823	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED	TON	1,825.80	\$95.00	\$173,451.00	\$115.00	\$209,967.00	\$125.00	\$228,225.00
403.11842	HBP-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	5,121.00	\$95.00	\$486,495.00	\$135.00	\$691,335.00	\$130.00	\$665,730.00
403.12	HBP-HAND METHOD	TON	50.00	\$200.00	\$10,000.00	\$300.00	\$15,000.00	\$200.00	\$10,000.00
403.16	PAVEMENT JOINT ADHESIVE	LF	75,074.00	\$0.35	\$26,275.90	\$0.35	\$26,275.90	\$0.35	\$26,275.90
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	12,955.10	\$3.00	\$38,865.30	\$4.50	\$58,297.95	\$3.50	\$45,342.85
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	6,352.50	\$4.50	\$28,586.25	\$5.00	\$31,762.50	\$6.00	\$38,115.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	10,364.00	\$6.75	\$69,957.00	\$4.00	\$41,456.00	\$4.00	\$41,456.00
410.753	COVER AGGREGATE	TON	25.90	\$1,800.00	\$46,620.00	\$1,500.00	\$38,850.00	\$1,450.00	\$37,555.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	30,394.10	\$4.00	\$121,576.40	\$3.10	\$94,221.71	\$3.00	\$91,182.30
417.	COLD PLANING BITUMINOUS SURFACES	SY	65,760.00	\$2.50	\$164,400.00	\$3.25	\$213,720.00	\$4.00	\$263,040.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	467.00	\$12.00	\$5,604.00	\$5.00	\$2,335.00	\$8.00	\$3,736.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	95,589.00	\$1.25	\$119,486.25	\$1.45	\$138,604.05	\$1.75	\$167,280.75
417.416	RUMBLE STRIPS, 16" WIDE	LF	4,537.00	\$5.00	\$22,685.00	\$3.00	\$13,611.00	\$3.20	\$14,518.40
419.13	BONDED WEARING COURSE, TYPE C	TON	7,834.10	\$135.00	\$1,057,603.50	\$137.00	\$1,073,271.70	\$140.00	\$1,096,774.00



				1	PS&E		USTRIES, INC. TE PARK ROAD		USTRIES, INC. HUEN STREET
							NT, NH 03220		T, MA 01826
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	51,071.00	\$2.50	\$127,677.50	\$3.10	\$158,320.10	\$3.15	\$160,873.65
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	653.50	\$120.00	\$78,420.00	\$125.00	\$81,687.50	\$125.00	\$81,687.50
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	370.50	\$125.00	\$46,312.50	\$150.00	\$55,575.00	\$150.00	\$55,575.00
604.0007	POLYETHYLENE LINER	EA	134.00	\$160.00	\$21,440.00	\$150.00	\$20,100.00	\$135.00	\$18,090.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	26.00	\$550.00	\$14,300.00	\$700.00	\$18,200.00	\$690.00	\$17,940.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$600.00	\$2,400.00	\$700.00	\$2,800.00	\$500.00	\$2,000.00
604.72	GRATES & FRAMES, TYPE B	EA	108.00	\$800.00	\$86,400.00	\$900.00	\$97,200.00	\$875.00	\$94,500.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	12.00	\$4,500.00	\$54,000.00	\$4,500.00	\$54,000.00	\$5,500.00	\$66,000.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	12.00	\$1,500.00	\$18,000.00	\$1,400.00	\$16,800.00	\$1,400.00	\$16,800.00
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	379.00	\$65.00	\$24,635.00	\$65.00	\$24,635.00	\$85.00	\$32,215.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	13,487.50	\$37.50	\$505,781.25	\$34.00	\$458,575.00	\$33.00	\$445,087.50
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	12.00	\$1,400.00	\$16,800.00	\$1,250.00	\$15,000.00	\$1,200.00	\$14,400.00
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	14.00	\$1,400.00	\$19,600.00	\$1,250.00	\$17,500.00	\$1,200.00	\$16,800.00
608.2401	4" CONCRETE SIDEWALK	SY	140.40	\$80.00	\$11,232.00	\$100.00	\$14,040.00	\$80.00	\$11,232.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	19.32	\$450.00	\$8,694.00	\$450.00	\$8,694.00	\$365.00	\$7,051.80
609.5	RESET GRANITE CURB	LF	98.00	\$50.00	\$4,900.00	\$65.00	\$6,370.00	\$40.00	\$3,920.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	5,679.00	\$8.50	\$48,271.50	\$18.00	\$102,222.00	\$10.00	\$56,790.00
614.512	CONCRETE PULL BOX 18"	EA	3.00	\$900.00	\$2,700.00	\$900.00	\$2,700.00	\$950.00	\$2,850.00
614.523	MOLDED PULL BOX 17"X30"	EA	2.00	\$700.00	\$1,400.00	\$900.00	\$1,800.00	\$950.00	\$1,900.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	110.00	\$10.00	\$1,100.00	\$35.00	\$3,850.00	\$37.00	\$4,070.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	7.00	\$1,200.00	\$8,400.00	\$900.00	\$6,300.00	\$950.00	\$6,650.00
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$1,750.00	\$1,750.00	\$2,000.00	\$2,000.00
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$6,000.00	\$6,000.00	\$4,200.00	\$4,200.00	\$4,500.00	\$4,500.00
616.9503	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$1,750.00	\$1,750.00	\$2,000.00	\$2,000.00
616.9504	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00



					P\$&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	1471 MET	DUSTRIES, INC. HUEN STREET IT, MA 01826
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.9505	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00
616.96	WEIGH-IN-MOTION TRAFFIC STUDY EQUIPMENT	U	1.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00
618.7	FLAGGERS	HR	1,790.00	\$40.00	\$71,600.00	\$47.00	\$84,130.00	\$47.00	\$84,130.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$486,500.00	\$486,500.00	\$500,000.00	\$500,000.00	\$547,000.00	\$547,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,350.00	\$13,400.00	\$15,000.00	\$60,000.00	\$6,000.00	\$24,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$7,500.00	\$15,000.00	\$10,000.00	\$20,000.00	\$6,500.00	\$13,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$12,500.00	\$25,000.00	\$9,000.00	\$18,000.00	\$25,000.00	\$50,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	191.00	\$5.25	\$1,002.75	\$8.00	\$1,528.00	\$7.50	\$1,432.50
621.31	SINGLE DELINEATOR WITH POST	EA	142.00	\$45.00	\$6,390.00	\$55.00	\$7,810.00	\$55.00	\$7,810.00
621.32	DOUBLE DELINEATOR WITH POST	EA	15.00	\$50.00	\$750.00	\$60.00	\$900.00	\$65.00	\$975.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	697.00	\$10.00	\$6,970.00	\$15.00	\$10,455.00	\$2.00	\$1,394.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	9,282.00	\$0.60	\$5,569.20	\$0.17	\$1,577.94	\$0.20	\$1,856.40
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	277,919.00	\$0.50	\$138,959.50	\$0.19	\$52,804.61	\$0.22	\$61,142.18
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	4,883.80	\$2.00	\$9,767.60	\$1.00	\$4,883.80	\$1.00	\$4,883.80
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	147.00	\$7.50	\$1,102.50	\$4.00	\$588.00	\$5.00	\$735.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	113.75	\$1.50	\$170.63	\$1.75	\$199.06	\$2.00	\$227.50
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	5,392.00	\$2.50	\$13,480.00	\$1.80	\$9,705.60	\$2.00	\$10,784.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	12,655.00	\$4.00	\$50,620.00	\$3.80	\$48,089.00	\$4.00	\$50,620.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	147.00	\$6.50	\$955.50	\$5.25	\$771.75	\$5.30	\$779.10
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	95.60	\$25.00	\$2,390.00	\$9.50	\$908.20	\$9.50	\$908.20
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	68,394.00	\$1.00	\$68,394.00	\$0.50	\$34,197.00	\$0.50	\$34,197.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	9,638.50	\$10.00	\$96,385.00	\$5.25	\$50,602.13	\$5.50	\$53,011.75
645.531	SILT FENCE	LF	9,638.50	\$5.00	\$48,192.50	\$1.75	\$16,867.38	\$4.50	\$43,373.25
645.611	BONDED FIBER MATRIX (BFM)	LB	5,493.00	\$2.50	\$13,732.50	\$2.00	\$10,986.00	\$2.00	\$10,986.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	Α	1.83	\$3,000.00	\$5,490.00	\$3,000.00	\$5,490.00	\$27,000.00	\$49,410.00



					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	1471 MET	OUSTRIES, INC. HUEN STREET T, MA 01826
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	164.90	\$20.00	\$3,298.00	\$15.00	\$2,473.50	\$16.00	\$2,638.40
671.62102	2" HDPE CONDUIT (DIRECTIONAL DRILL)	LF	100.00	\$100.00	\$10,000.00	\$80.00	\$8,000.00	\$85.00	\$8,500.00
677.4601	MOTOR VEHICLE DETECTION SYSTEM (MVDS)	U	1.00	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
677.51024	24-STRAND SINGLE MODE FIBER OPTIC CABLE	LF	600.00	\$5.00	\$3,000.00	\$4.00	\$2,400.00	\$4.25	\$2,550.00
677.53	FIBER OPTIC SPLICE	EA	24.00	\$250.00	\$6,000.00	\$165.00	\$3,960.00	\$175.00	\$4,200.00
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$13,500.00	\$13,500.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
677.562	FIBER OPTIC PATCH PANEL (24-POSITION)	EA	1.00	\$2,600.00	\$2,600.00	\$1,700.00	\$1,700.00	\$16,000.00	\$16,000.00
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	2.00	\$6,500.00	\$13,000.00	\$5,000.00	\$10,000.00	\$4,800.00	\$9,600.00
677.63019	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$1,800.00	\$1,800.00
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	1.00	\$7,000.00	\$7,000.00	\$9,500.00	\$9,500.00	\$10,000.00	\$10,000.00
692.	MOBILIZATION	U	1.00	\$350,000.00	\$350,000.00	\$600,000.00	\$600,000.00	\$525,000.00	\$525,000.00
698.12	FIELD OFFICE TYPE B	MON	18.00	\$2,500.00	\$45,000.00	\$3,000.00	\$54,000.00	\$2,700.00	\$48,600.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	7,000.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	24,325.00	\$1.00	\$24,325.00	\$1.00	\$24,325.00	\$1.00	\$24,325.00
	Totals		Totals:		\$5,918,449.53		\$6,393,237.13		\$6,438,060.48
			Alt. Totals:						
			Totals:		\$5,918,449.53	1	\$6,393,237.13	1	\$6,438,060.48



MANCHESTER-HOOKSETT 43071 X-A005(034)

				F	PS&E	200 CHUI	ROUP LLC, THE RCH STREET Y, NY 12202		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	T	1	1	1				1	1
202.7	REMOVAL OF GUARDRAIL	LF	15,419.00	\$5.00	\$77,095.00	\$3.25	\$50,111.75		
202.83631	REMOVE AND SALVAGE HUB CABINET	U	1.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00		
203.1	COMMON EXCAVATION	CY	100.00	\$40.00	\$4,000.00	\$20.00	\$2,000.00		
203.5561	EAGRT PLATFORM PREFERRED	U	12.00	\$1,750.00	\$21,000.00	\$1,500.00	\$18,000.00		
203.5596	GUARDRAIL E-2 PLATFORM	LF	379.00	\$100.00	\$37,900.00	\$55.00	\$20,845.00		
206.1	COMMON STRUCTURE EXCAVATION	CY	15.40	\$600.00	\$9,240.00	\$300.00	\$4,620.00		
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$350.00	\$3,500.00	\$200.00	\$2,000.00		
304.301	CRUSHED GRAVEL	CY	10.00	\$500.00	\$5,000.00	\$60.00	\$600.00		
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,000.00	\$25.00	\$50,000.00	\$25.00	\$50,000.00		
403.11053	HBP-3/8" SURFACE MIX, MACHINE METHOD	TON	377.90	\$95.00	\$35,900.50	\$125.00	\$47,237.50		
403.11823	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED	TON	1,825.80	\$95.00	\$173,451.00	\$115.00	\$209,967.00		
403.11842	HBP-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	5,121.00	\$95.00	\$486,495.00	\$105.00	\$537,705.00		
403.12	HBP-HAND METHOD	TON	50.00	\$200.00	\$10,000.00	\$160.00	\$8,000.00		
403.16	PAVEMENT JOINT ADHESIVE	LF	75,074.00	\$0.35	\$26,275.90	\$0.30	\$22,522.20		
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	12,955.10	\$3.00	\$38,865.30	\$3.00	\$38,865.30		
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	6,352.50	\$4.50	\$28,586.25	\$4.50	\$28,586.25		
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	10,364.00	\$6.75	\$69,957.00	\$7.45	\$77,211.80		
410.753	COVER AGGREGATE	TON	25.90	\$1,800.00	\$46,620.00	\$511.70	\$13,253.03		
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	30,394.10	\$4.00	\$121,576.40	\$2.95	\$89,662.60		
417.	COLD PLANING BITUMINOUS SURFACES	SY	65,760.00	\$2.50	\$164,400.00	\$3.50	\$230,160.00		
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	467.00	\$12.00	\$5,604.00	\$5.00	\$2,335.00		
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	95,589.00	\$1.25	\$119,486.25	\$1.25	\$119,486.25		
417.416	RUMBLE STRIPS, 16" WIDE	LF	4,537.00	\$5.00	\$22,685.00	\$1.74	\$7,894.38		
419.13	BONDED WEARING COURSE, TYPE C	TON	7,834.10	\$135.00	\$1,057,603.50	\$155.76	\$1,220,239.42		



		ı	T	Ţ		ī		•	
					PS&E	200 CHU	ROUP LLC, THE RCH STREET Y, NY 12202		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	51,071.00	\$2.50	\$127,677.50	\$1.00	\$51,071.00		
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	653.50	\$120.00	\$78,420.00	\$118.25	\$77,276.38		
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	370.50	\$125.00	\$46,312.50	\$148.25	\$54,926.63		
604.0007	POLYETHYLENE LINER	EA	134.00	\$160.00	\$21,440.00	\$120.00	\$16,080.00		
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	26.00	\$550.00	\$14,300.00	\$900.00	\$23,400.00		
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$600.00	\$2,400.00	\$900.00	\$3,600.00		
604.72	GRATES & FRAMES, TYPE B	EA	108.00	\$800.00	\$86,400.00	\$900.00	\$97,200.00		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	12.00	\$4,500.00	\$54,000.00	\$5,185.00	\$62,220.00		
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	12.00	\$1,500.00	\$18,000.00	\$1,325.00	\$15,900.00		
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	379.00	\$65.00	\$24,635.00	\$82.00	\$31,078.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	13,487.50	\$37.50	\$505,781.25	\$31.00	\$418,112.50		
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	12.00	\$1,400.00	\$16,800.00	\$1,125.00	\$13,500.00		
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	14.00	\$1,400.00	\$19,600.00	\$1,125.00	\$15,750.00		
608.2401	4" CONCRETE SIDEWALK	SY	140.40	\$80.00	\$11,232.00	\$150.00	\$21,060.00		
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	19.32	\$450.00	\$8,694.00	\$200.00	\$3,864.00		
609.5	RESET GRANITE CURB	LF	98.00	\$50.00	\$4,900.00	\$15.00	\$1,470.00		
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	5,679.00	\$8.50	\$48,271.50	\$5.50	\$31,234.50		
614.512	CONCRETE PULL BOX 18"	EA	3.00	\$900.00	\$2,700.00	\$900.00	\$2,700.00		
614.523	MOLDED PULL BOX 17"X30"	EA	2.00	\$700.00	\$1,400.00	\$900.00	\$1,800.00		
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	110.00	\$10.00	\$1,100.00	\$35.00	\$3,850.00		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	7.00	\$1,200.00	\$8,400.00	\$900.00	\$6,300.00		
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$1,750.00	\$1,750.00		
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$6,000.00	\$6,000.00	\$4,200.00	\$4,200.00		
616.9503	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$1,750.00	\$1,750.00		
616.9504	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00		



					PS&E	200 CHU	ROUP LLC, THE RCH STREET IY, NY 12202		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.9505	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00		
616.96	WEIGH-IN-MOTION TRAFFIC STUDY EQUIPMENT	U	1.00	\$250,000.00	\$250,000.00	\$194,400.00	\$194,400.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00		
618.7	FLAGGERS	HR	1,790.00	\$40.00	\$71,600.00	\$10.00	\$17,900.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$486,500.00	\$486,500.00	\$1,262,346.14	\$1,262,346.14		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,350.00	\$13,400.00	\$5,200.00	\$20,800.00		
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$7,500.00	\$15,000.00	\$4,000.00	\$8,000.00		
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$12,500.00	\$25,000.00	\$20,000.00	\$40,000.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	191.00	\$5.25	\$1,002.75	\$7.25	\$1,384.75		
621.31	SINGLE DELINEATOR WITH POST	EA	142.00	\$45.00	\$6,390.00	\$50.00	\$7,100.00		
621.32	DOUBLE DELINEATOR WITH POST	EA	15.00	\$50.00	\$750.00	\$60.00	\$900.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	697.00	\$10.00	\$6,970.00	\$3.50	\$2,439.50		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	9,282.00	\$0.60	\$5,569.20	\$0.17	\$1,577.94		
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	277,919.00	\$0.50	\$138,959.50	\$0.19	\$52,804.61		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	4,883.80	\$2.00	\$9,767.60	\$2.86	\$13,967.67		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	147.00	\$7.50	\$1,102.50	\$5.00	\$735.00		
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	113.75	\$1.50	\$170.63	\$1.70	\$193.38		
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	5,392.00	\$2.50	\$13,480.00	\$1.75	\$9,436.00		
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	12,655.00	\$4.00	\$50,620.00	\$3.75	\$47,456.25		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	147.00	\$6.50	\$955.50	\$5.00	\$735.00		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	95.60	\$25.00	\$2,390.00	\$9.00	\$860.40		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	68,394.00	\$1.00	\$68,394.00	\$0.54	\$36,932.76		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	9,638.50	\$10.00	\$96,385.00	\$1.00	\$9,638.50		
645.531	SILT FENCE	LF	9,638.50	\$5.00	\$48,192.50	\$1.00	\$9,638.50		
645.611	BONDED FIBER MATRIX (BFM)	LB	5,493.00	\$2.50	\$13,732.50	\$3.00	\$16,479.00		
646.2	TURF ESTABLISHMENT WITHOUT MULCH	Α	1.83	\$3,000.00	\$5,490.00	\$4,000.00	\$7,320.00		

New Hampshire Department of Transportation

ABC Bid Data

					PS&E	200 CHU	RROUP LLC, THE RCH STREET IY, NY 12202		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	164.90	\$20.00	\$3,298.00	\$1.00	\$164.90		
671.62102	2" HDPE CONDUIT (DIRECTIONAL DRILL)	LF	100.00	\$100.00	\$10,000.00	\$80.00	\$8,000.00		
677.4601	MOTOR VEHICLE DETECTION SYSTEM (MVDS)	U	1.00	\$20,000.00	\$20,000.00	\$41,800.00	\$41,800.00		
677.51024	24-STRAND SINGLE MODE FIBER OPTIC CABLE	LF	600.00	\$5.00	\$3,000.00	\$4.00	\$2,400.00		
677.53	FIBER OPTIC SPLICE	EA	24.00	\$250.00	\$6,000.00	\$160.00	\$3,840.00		
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$13,500.00	\$13,500.00	\$18,250.00	\$18,250.00		
677.562	FIBER OPTIC PATCH PANEL (24-POSITION)	EA	1.00	\$2,600.00	\$2,600.00	\$1,500.00	\$1,500.00		
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	2.00	\$6,500.00	\$13,000.00	\$4,500.00	\$9,000.00		
677.63019	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00		
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	1.00	\$7,000.00	\$7,000.00	\$8,900.00	\$8,900.00		
692.	MOBILIZATION	U	1.00	\$350,000.00	\$350,000.00	\$757,282.00	\$757,282.00		
698.12	FIELD OFFICE TYPE B	MON	18.00	\$2,500.00	\$45,000.00	\$2,600.00	\$46,800.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	7,000.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00		
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	24,325.00	\$1.00	\$24,325.00	\$1.00	\$24,325.00		
	Totals		Totals:		\$5,918,449.53		\$6,799,802.79		
	Alt. Totals:								
			Totals:		\$5,918,449.53		\$6,799,802.79	1	



MANCHESTER-HOOKSETT 43071 X-A005(034)

				A-Bide	der	PS8	ßЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	15,419.00	\$2.75	\$42,402.25	\$5.00	\$77,095.00	(\$34,692.75)
202.83631	REMOVE AND SALVAGE HUB CABINET	U	1.00	\$2,500.00				, , ,
203.1	COMMON EXCAVATION	CY	100.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$0.00
203.5561	EAGRT PLATFORM PREFERRED	U	12.00	\$1,250.00	\$15,000.00	\$1,750.00	\$21,000.00	(\$6,000.00)
203.5596	GUARDRAIL E-2 PLATFORM	LF	379.00	\$35.00	\$13,265.00	\$100.00	\$37,900.00	(\$24,635.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	15.40	\$1,700.00	\$26,180.00	\$600.00	\$9,240.00	\$16,940.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$45.00	\$450.00	\$350.00	\$3,500.00	(\$3,050.00)
304.301	CRUSHED GRAVEL	CY	10.00	\$200.00	\$2,000.00	\$500.00	\$5,000.00	(\$3,000.00)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,000.00	\$36.00	\$72,000.00	\$25.00	\$50,000.00	\$22,000.00
403.11053	HBP-3/8" SURFACE MIX, MACHINE METHOD	TON	377.90	\$185.00	\$69,911.50	\$95.00	\$35,900.50	\$34,011.00
403.11823	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED	TON	1,825.80	\$115.00	\$209,967.00	\$95.00	\$173,451.00	\$36,516.00
403.11842	HBP-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	5,121.00	\$135.00	\$691,335.00	\$95.00	\$486,495.00	\$204,840.00
403.12	HBP-HAND METHOD	TON	50.00	\$300.00	\$15,000.00	\$200.00	\$10,000.00	\$5,000.00
403.16	PAVEMENT JOINT ADHESIVE	LF	75,074.00	\$0.35	\$26,275.90	\$0.35	\$26,275.90	\$0.00

Wednesday, May 4, 2022 Page 10 of 16



MANCHESTER-HOOKSETT 43071 X-A005(034)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	12,955.10	\$4.50	\$58,297.95	\$3.00	\$38,865.30	\$19,432.65
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	6,352.50	\$5.00	\$31,762.50	\$4.50	\$28,586.25	\$3,176.25
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	10,364.00	\$4.00	\$41,456.00	\$6.75	\$69,957.00	(\$28,501.00)
410.753	COVER AGGREGATE	TON	25.90	\$1,500.00	\$38,850.00	\$1,800.00	\$46,620.00	(\$7,770.00)
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	30,394.10	\$3.10	\$94,221.71	\$4.00	\$121,576.40	(\$27,354.69)
417.	COLD PLANING BITUMINOUS SURFACES	SY	65,760.00	\$3.25	\$213,720.00	\$2.50	\$164,400.00	\$49,320.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	467.00	\$5.00	\$2,335.00	\$12.00	\$5,604.00	(\$3,269.00)
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	95,589.00	\$1.45	\$138,604.05	\$1.25	\$119,486.25	\$19,117.80
417.416	RUMBLE STRIPS, 16" WIDE	LF	4,537.00	\$3.00	\$13,611.00	\$5.00	\$22,685.00	(\$9,074.00)
419.13	BONDED WEARING COURSE, TYPE C	TON	7,834.10	\$137.00	\$1,073,271.70	\$135.00	\$1,057,603.50	\$15,668.20
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	51,071.00	\$3.10	\$158,320.10	\$2.50	\$127,677.50	\$30,642.60
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	653.50	\$125.00	\$81,687.50	\$120.00	\$78,420.00	\$3,267.50
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	370.50	\$150.00	\$55,575.00	\$125.00	\$46,312.50	\$9,262.50
604.0007	POLYETHYLENE LINER	EA	134.00	\$150.00	\$20,100.00	\$160.00	\$21,440.00	(\$1,340.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	26.00	\$700.00	\$18,200.00	\$550.00	\$14,300.00	\$3,900.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$700.00	\$2,800.00	\$600.00	\$2,400.00	\$400.00

Wednesday, May 4, 2022 Page 11 of 16



MANCHESTER-HOOKSETT 43071 X-A005(034)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.72	GRATES & FRAMES, TYPE B	EA	108.00	\$900.00	\$97,200.00	\$800.00	\$86,400.00	\$10,800.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	12.00	\$4,500.00	\$54,000.00	\$4,500.00	\$54,000.00	\$0.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)		12.00	\$1,400.00	\$16,800.00	\$1,500.00	\$18,000.00	(\$1,200.00)
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	379.00	\$65.00	\$24,635.00	\$65.00	\$24,635.00	\$0.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	13,487.50	\$34.00	\$458,575.00	\$37.50	\$505,781.25	(\$47,206.25)
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	12.00	\$1,250.00	\$15,000.00	\$1,400.00	\$16,800.00	(\$1,800.00)
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	14.00	\$1,250.00	\$17,500.00	\$1,400.00	\$19,600.00	(\$2,100.00)
608.2401	4" CONCRETE SIDEWALK	SY	140.40	\$100.00	\$14,040.00	\$80.00	\$11,232.00	\$2,808.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	19.32	\$450.00	\$8,694.00	\$450.00	\$8,694.00	\$0.00
609.5	RESET GRANITE CURB	LF	98.00	\$65.00	\$6,370.00	\$50.00	\$4,900.00	\$1,470.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	5,679.00	\$18.00	\$102,222.00	\$8.50	\$48,271.50	\$53,950.50
614.512	CONCRETE PULL BOX 18"	EA	3.00	\$900.00	\$2,700.00	\$900.00	\$2,700.00	\$0.00
614.523	MOLDED PULL BOX 17"X30"	EA	2.00	\$900.00	\$1,800.00	\$700.00	\$1,400.00	\$400.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	110.00	\$35.00	\$3,850.00	\$10.00	\$1,100.00	\$2,750.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	7.00	\$900.00	\$6,300.00	\$1,200.00	\$8,400.00	(\$2,100.00)

Wednesday, May 4, 2022 Page 12 of 16



MANCHESTER-HOOKSETT 43071 X-A005(034)

		•	_	A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$1,750.00	\$1,750.00	\$4,500.00	\$4,500.00	(\$2,750.00)
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$4,200.00	\$4,200.00	\$6,000.00	\$6,000.00	(\$1,800.00)
616.9503	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$1,750.00	\$1,750.00	\$4,500.00	\$4,500.00	(\$2,750.00)
616.9504	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	(\$1,500.00)
616.9505	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	(\$1,500.00)
616.96	WEIGH-IN-MOTION TRAFFIC STUDY EQUIPMENT	U	1.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$0.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$0.00
618.7	FLAGGERS	HR	1,790.00	\$47.00	\$84,130.00	\$40.00	\$71,600.00	\$12,530.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$500,000.00	\$500,000.00	\$486,500.00	\$486,500.00	\$13,500.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$15,000.00	\$60,000.00	\$3,350.00	\$13,400.00	\$46,600.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$10,000.00	\$20,000.00	\$7,500.00	\$15,000.00	\$5,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$9,000.00	\$18,000.00	\$12,500.00	\$25,000.00	(\$7,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	191.00	\$8.00	\$1,528.00	\$5.25	\$1,002.75	\$525.25
621.31	SINGLE DELINEATOR WITH POST	EA	142.00	\$55.00	\$7,810.00	\$45.00	\$6,390.00	\$1,420.00
621.32	DOUBLE DELINEATOR WITH POST	EA	15.00	\$60.00	\$900.00	\$50.00	\$750.00	\$150.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	697.00	\$15.00	\$10,455.00	\$10.00	\$6,970.00	\$3,485.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	9,282.00	\$0.17	\$1,577.94	\$0.60	\$5,569.20	(\$3,991.26)

Wednesday, May 4, 2022 Page 13 of 16



MANCHESTER-HOOKSETT 43071 X-A005(034)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	277,919.00	\$0.19	\$52,804.61	\$0.50	\$138,959.50	(\$86,154.89)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		4,883.80	\$1.00	\$4,883.80	\$2.00	\$9,767.60	(\$4,883.80)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	147.00	\$4.00	\$588.00	\$7.50	\$1,102.50	(\$514.50)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	113.75	\$1.75	\$199.06	\$1.50	\$170.63	\$28.43
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	5,392.00	\$1.80	\$9,705.60	\$2.50	\$13,480.00	(\$3,774.40)
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	12,655.00	\$3.80	\$48,089.00	\$4.00	\$50,620.00	(\$2,531.00)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	147.00	\$5.25	\$771.75	\$6.50	\$955.50	(\$183.75)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	95.60	\$9.50	\$908.20	\$25.00	\$2,390.00	(\$1,481.80)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	68,394.00	\$0.50	\$34,197.00	\$1.00	\$68,394.00	(\$34,197.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	9,638.50	\$5.25	\$50,602.13	\$10.00	\$96,385.00	(\$45,782.87)
645.531	SILT FENCE	LF	9,638.50	\$1.75	\$16,867.38	\$5.00	\$48,192.50	(\$31,325.12)
645.611	BONDED FIBER MATRIX (BFM)	LB	5,493.00	\$2.00	\$10,986.00	\$2.50	\$13,732.50	(\$2,746.50)
646.2	TURF ESTABLISHMENT WITHOUT MULCH	Α	1.83	\$3,000.00	\$5,490.00	\$3,000.00	\$5,490.00	\$0.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	164.90	\$15.00	\$2,473.50	\$20.00	\$3,298.00	(\$824.50)
671.62102	2" HDPE CONDUIT (DIRECTIONAL DRILL)	LF	100.00	\$80.00	\$8,000.00	\$100.00	\$10,000.00	(\$2,000.00)

Wednesday, May 4, 2022 Page 14 of 16



MANCHESTER-HOOKSETT 43071 X-A005(034)

			Quantity	A-Bidder		PS&E		
Item No.	Description	Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference
677.4601	MOTOR VEHICLE DETECTION SYSTEM (MVDS)	U	1.00	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00	\$25,000.00
677.51024	24-STRAND SINGLE MODE FIBER OPTIC CABLE	LF	600.00	\$4.00	\$2,400.00	\$5.00	\$3,000.00	(\$600.00)
677.53	FIBER OPTIC SPLICE	EA	24.00	\$165.00	\$3,960.00	\$250.00	\$6,000.00	(\$2,040.00)
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$20,000.00	\$20,000.00	\$13,500.00	\$13,500.00	\$6,500.00
677.562	FIBER OPTIC PATCH PANEL (24-POSITION)	EA	1.00	\$1,700.00	\$1,700.00	\$2,600.00	\$2,600.00	(\$900.00)
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	2.00	\$5,000.00	\$10,000.00	\$6,500.00	\$13,000.00	(\$3,000.00)
677.63019	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00	(\$100.00)
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	1.00	\$9,500.00	\$9,500.00	\$7,000.00	\$7,000.00	\$2,500.00
692.	MOBILIZATION	U	1.00	\$600,000.00	\$600,000.00	\$350,000.00	\$350,000.00	\$250,000.00
698.12	FIELD OFFICE TYPE B	MON	18.00	\$3,000.00	\$54,000.00	\$2,500.00	\$45,000.00	\$9,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	7,000.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	24,325.00	\$1.00	\$24,325.00	\$1.00	\$24,325.00	\$0.00

Wednesday, May 4, 2022 Page 15 of 16

Total: \$6,393,237.13 \$5,918,449.53 \$474,787.60

Wednesday, May 4, 2022 Page 16 of 16